

Family-owned and American-made, Fire Magic® grills are the highest performing, most stylish premium grills on the market with design innovations that bring out the best in outdoor cooking. Made from the highest quality materials with advanced features to grill, sear, smoke, rotisserie cook, and even charcoal grill for years to come.









#### **Echelon Diamond Built-In Grill**

- Angled Interior Halogen Lights
- Quantum Backburner & Rotisserie Kit
- 120 VAC/12 Volt Hot Surface Ignition
- Cast Stainless Steel Burners
- Illuminated Control Knobs

Model No.

- Analog and Digital Thermometers
- Grills Come with both LP & NG Orifices

**Description** 

- Touch Screen Operation
- Black Glass Control Panel
- Diamond Sear Cooking Grids
- Charcoal / Smoker Basket
- Zone Flavor Grids
- Adjustable Warming Rack
- Raised Hanger

# **List Price**

# E1060 Built-In Grills

E1060I-9E1N	NG Grill Head Only with Digital Thermometer, 48 x 22 (1,056 sq. in.), 112,000 Btu's, Backburner 22,000 Btu's	\$12,328.00
E1060I-9E1P	LP Grill Head Only with Digital Thermometer, 48 x 22 (1,056 sq. in.), 112,000 Btu's, Backburner 22,000 Btu's	\$12,328.00
E1060I-9E1N-W	NG Grill Head Only with Window and Digital Thermometer, 48 x 22 (1,056 sq. in.), 112,000 Btu's, Backburner 22,000 Btu's	\$13,067.00
E1060I-9E1P-W �	LP Grill Head Only with Window and Digital Thermometer, 48 x 22 (1,056 sq. in.), 112,000 Btu's, Backburner 22,000 Btu's	\$13,067.00



E1060i

#### **E790 Built-In Grills**

E790I-9E1N	NG Grill Head Only with Digital Thermometer, 36 x 22 (792 sq. in.), 96,000 Btu's, Backburner 13,000 Btu's	\$9,946.00
E790I-9E1P	LP Grill Head Only with Digital Thermometer, 36 x 22 (792 sq. in.), 96,000 Btu's, Backburner 13,000 Btu's	\$9,946.00
E790I-9E1N-W	NG Grill Head Only with Window and Digital Thermometer, 36 x 22 (792 sq. in.), 96,000 Btu's, Backburner 13,000 Btu's	\$10,686.00
E790I-9E1P-W	LP Grill Head Only with Window and Digital Thermometer, 36 x 22 (792 sq. in.), 96,000 Btu's, Backburner 13,000 Btu's	\$10,686.00
E790I-9EAN	NG Grill Head Only with Analog Thermometer, 36 x 22 (792 sq. in.), 96,000 Btu's, Backburner 13,000 Btu's	\$9,286.00
E790I-9EAP ❖	LP Grill Head Only with Analog Thermometer, 36 x 22 (792 sq. in.), 96,000 Btu's, Backburner 13,000 Btu's	\$9,286.00



E790i

#### **E660 Built-In Grills**

E660I-9E1N	NG Grill Head Only with Digital Thermometer, 30 x 22 (660 sq. in.), 75,000 Btu's, Backburner 11,000 Btu's	\$9,312.00
E660I-9E1P *	LP Grill Head Only with Digital Thermometer, 30 x 22 (660 sq. in.), 75,000 Btu's, Backburner 11,000 Btu's	\$9,312.00
E660I-9EAN	NG Grill Head with Analog Thermometer, 30 x 22 (660 sq. in.), 75,000 Btu's, Backburner 11,000 Btu's	\$8,652.00
E660I-9EAP ❖	LP Grill Head with Analog Thermometer, 30 x 22 (660 sq. in.), 75,000 Btu's, Backburner 11,000 Btu's	\$8,652.00



E660i

#### Portable Cart Bases and Grill Covers

790-SC24	36" Portable Cart Grill Base, Fits E790i-9 & A790i	\$2,620.00
660-SC24	30" Portable Cart Grill Base, Fits E660i-9, A660i, E660i-1T, 5660	\$2,415.00
3648F	E1060 Built-In Grill Cover	\$126.00
3651F	E790 Built-In Grill Cover	\$124.00
3647F	E660 Built-In Grill Cover	\$114.00
35185-20F	E660 Freestanding Grill Cover	\$231.00
35189-20F	E790 Freestanding Grill Cover	\$242.00



Pricing, model numbers and availability are subject to change without notice.



# **Aurora Series Built-In Grill**

- A Grill of Superior Design and Engineering--Crafted for Cooking Versatility, Durability and Long Life
- Cast Stainless Steel "E" Burners Guaranteed for Life
- Back-lit Comfort Touch Knobs
- Advanced Hot Surface Ignition System

- Diamond Sear Cooking Grids
- Built-In Interior Halogen Lights
- Analog Style Thermometer Standard
- Optional Magic View Windows (A660 & A790 only)
- Grills Come with both LP & NG Orifices

#### Model No. **Description**

# A790 Built-In Grills

A790I-7EAN	NG Grill Head Only, 36 x 22 (792 sq. in.), 90,000 Btu's	\$7,248.00
A790I-7EAP	LP Grill Head Only, 36 x 22 (792 sq. in.), 90,000 Btu's	\$7,248.00
A790I-8EAN	NG Grill Head Only with Rotisserie Backburner, 36 x 22 (792 sq. in.), 90,000 Btu's, Backburner 20,000 Btu's	\$7,906.00
A790I-8EAP	LP Grill Head Only with Rotisserie Backburner, 36 x 22 (792 sq. in.), 90,000 Btu's, Backburner 20,000 Btu's	\$7,906.00

#### A660 Built-In Grills

A660I-7EAN	NG Grill Head Only, 30 x 22 (792 sq. in.), 75,000 Btu's	\$6,489.00
A660I-7EAP	LP Grill Head Only, 30 x 22 (792 sq. in.), 75,000 Btu's	\$6,3489.00
A660I-8EAN	NG Grill Head Only with Rotisserie Backburner, 30 x 22 (792 sq. in.), 75,000 Btu's, Backburner 18,000 BTU's	\$7,135.00
A660I-8EAP	LP Grill Head Only with Rotisserie Backburner, 30 x 22 (792 sq. in.), 75,000 Btu's, Backburner 18,000 BTU's	\$7,135.00

# A540 Built-In Grills

A540I-7EAN	NG Grill Head Only, 30 x 18 (540 sq. in.), 63,000 Btu's	\$5,948.00
	NG Grill Head Only with Rotisserie Backburner, 30 x 18 (540 sq. in.), 63,000 Btu's, Backburner 18,000 BtU's	\$6,579.00

#### A830 Built-In Grills

A830I-7EAN-CB ❖	NG & Charcoal Grill Head Only, Ignited by 26,000 Btu Gas Burner	\$8,255.00
A830I-8EAN-CB ❖	NG & Charcoal Grill Head Only, Ignited by 26,000 Btu Gas Burner with Rotisserie Backburner, 13,000 BTU's	\$8,886.00

#### Portable Cart Bases and Grill Covers

790-SC24	36" Portable Cart Grill Base, Fits E790i-9 & A790i	\$2,620.00
660-SC24	30" Portable Cart Grill Base, Fits E660i-9, A660i, E660i-1T, 5660	\$2,415.00
3651F	A790 Built-In Grill Cover	\$124.00
3647F	A660 Built-In Grill Cover	\$114.00
3643F	A540 Built-In Grill Cover	\$952.00
3649F ❖	A830 Built-In Grill Cover	\$124.00
35185-20F	E660 Freestanding Grill Cover	\$231.00
35189-20F	E790 Freestanding Grill Cover	\$242.00
	•	

















# **Choice Series Grill**

- Diamond Sear Cooking Grid
- Analog Thermometer
- Rapid Light Ignition (No Batteries or Power Required)
- Heavy Gauge Tubular Stainless Steel Burners
- Grills Come with both LP & NG Orifices

**List Price** 

# Model No. Description

#### C650I Built-In Grills

C650I-RT1N	NG Grill Head Only, 36 x 18 (648 sq. in.), 69,000 Btu's	\$4,967.00
C650I-RT1P	LP Grill Head Only, 36 x 18 (648 sq. in.), 69,000 Btu's	\$4,967.00

# C540 Built-In Grills

C540I-RT1N	NG Grill Head Only, 30 x 18 (540 sq. in.), 60,000 Btu's	\$4,585.00

#### C430 Built-In & Post Mount Grills

C430I-RT1N *	NG Grill Head Only, 24 x 18 (432 sq. in.), 40,000 Btu's	\$3,955.00
C430S-RT1N-P6 *	NG Patio Post Mount Grill, 24 x 18 (432 sq. in.), 40,000 Btu's	\$5,154.00
C430S-RT1N-G6 �	NG In-Ground Post Mount Grill, 24 x 18 (432 sq. in.), 40,000 Btu's	\$4,923.00

#### **Grill Covers**

O OO.O.O		
3657F	C650i Grill Cover	\$116.00
3643F	C540i Grill Cover	\$95.00
3644F <b>*</b>	C430i Grill Cover	\$89.00
5125-20F ❖	C430s Post Mount Grill Cover	\$169.00







# **Charcoal Stainless Steel Grill**

- Analog Thermometer
- Smoker Oven / Hood with Vents
- 304 Stainless Steel Construction

- Ash Catcher with Upper Sleeve
- Adjustable Charcoal Pans

• Diamond Searing Grid

Model No.	Description	List Price
14-SC01C-A	30"x18" (540 sq. in.) SS Built-In Grill with Smoker Oven/Hood	\$2,939.00
12-SC01C-A *	24"x18" (432 sq. in.) SS Built-In Grill with Smoker Oven/Hood	\$2,565.00



# **Legacy Charcoal Grill**

• Durable Black Powder Coat Enamel Finish (without Cooking Grids or Oven/Hood)

• Adjustable Charcoal Pan for Easy Cooking Control

#### Slide-Ins

3334	30"x18" (540 sq. in.) Lift-A-Fire Charcoal Grill	\$1,071.00
3339 🌣	23"x16" (368 sq. in.) Lift-A-Fire Charcoal Grill	\$883.00
Countertops		
3324 🌣	30"x18" (540 sq. in.) Firemaster Charcoal Grill	<b>*</b> 770.00
3324 *	30 x10 (340 3q. III.) Hieritasier Charcoal Offi	\$770.00



# **Cooking Grid Options**

3543-DS-3 <b>*</b>	Diamond Sear Cooking Grids for 3334 and 3324	\$722.00
3538-2	Porcelain Steel Cooking Grids for 3334 and 3324	\$185.00
3537-S-2 <b>*</b>	Stainless Steel Cooking Grids for 3339 and 3329	\$413.00



# **Built-In Power Burners and Side Burners**

Model No.	Description	List Price
-----------	-------------	------------

#### **Power Burners**

19-6B1N-0	Echelon Power Burner with Cast Brass Burner and Stainless Steel Grid, 60,000 Btu's - NG	\$2,666.00
19-6B2N-0	Echelon Power Burner with Cast Brass Burners and Porcelain Cast Grid, 60,000 Btu's - NG	\$2,727.00
19-6B2P-0	Echelon Power Burner with Cast Brass Burners and Porcelain Cast Grid, 60,000 Btu's - LP	\$2,727.00
19-7B1N-0 <b>*</b>	Aurora Power Burner with Cast Brass Burner and Stainless Steel Grid, 60,000 Btu's - NG	\$2,435.00
19-7B2N-0	Aurora Power Burner with Cast Brass Burner and Porcelain Cast Iron Grid, 60,000 Btu's - NG	\$2,492.00
19-7B2P-0	Aurora Power Burner with Cast Brass Burner and Porcelain Cast Iron Grid, 60,000 Btu's - LP	\$2,492.00
3545\$	Stainless Steel Grid for Power Burner	\$116.00



19-6B1N-0



32816

#### **Built-In Side Burners**

3280	Single Side Burner - Countertop Built-In, 15,000 Btu's - NG	\$700.00
3280P	Single Side Burner - Countertop Built-In, 15,000 Btu's - LP	\$700.00
32816	Echelon Double Side Burner - Built-In, 30,000 Btu's - NG	\$1,943.00
32816P	Echelon Double Side Burner - Built-In, 30,000 Btu's - LP	\$1,943.00
32817	Aurora Double Side Burner - Built-In, 30,000 Btu's - NG	\$1,706.00
32817P <b>*</b>	Aurora Double Side Burner - Built-In, 30,000 Btu's - LP	\$1,706.00



#### **Fabric Covers**

3640F	Power Burner, Double Searing Station Cover	\$147.00
3276-5F	Double Side Burner, Bar Caddy or Searing Station Cover	\$126.00
3274-5F	Single Built-In Side Burner Cover	\$119.00

Note: 120 VAC/12 Volt hot surface ignition requires additional transformer if used independently of grill. Echelon model 24187-18, Aurora model 24177-12.

Note: All power burners, searing stations and side burners include a stainless steel lid and LP orifices.



#### **EL500i Built-In Electric Grills**

- 31" x 16" Cooking Area (496 sq. in.)
- Touchscreen Control with Digital Timer and Bluetooth
- Diamond Sear Cooking Grids

- 240 Volt AC, Heats Up to 700°F and Works on 30 Amp Circuit
- 304 Stainless Steel Construction

Model No.	Description	List Price
EL500i-4Z1E-W	Electric Built-In Grill with Two Controls and Window	\$7,570.00
EL500i-4Z1E	Electric Built-In Grill with Two Controls	\$7,267.00
EL500i-3Z1E	Electric Built-In Grill with One Control	\$7,065.00
ID500-D-48 ❖	Ready-to-Assemble Aluminum Island (36"h x 48"l x 25"d)	\$3,055.00
3178-52	Insulating Liner for EL500	\$870.00
3662F	Built-In Cover for EL500	\$115.00



# **E251 Electric Grill**

- 15 1/2" x 16 1/4" Cooking Area (252 Sq. In.) 110 Volt AC 1680Watt
- Perfect for Boats, Condos and Apartment Balconies where open flame is prohibited
- Works on 15 Amp Current
- Heats to more than 725 degrees F

E251S-1Z1E-P6 �	Electric Pedestal Grill with Patio Base and Shelves	\$2,773.00
E251T-1Z1E �	Electric Table Top Grill	\$2,235.00
E251I-1Z1E ❖	Electric Built-In Grill	\$2,381.00
5115-20F ❖	Cover for Electric Pedestal Grill	\$107.00
3642F ❖	Cover for the Electric Table Top Grill	\$82.00



# EL500s Patio Post-Mount Electric Grills NEW

EL500S-4Z1E-W-P6 �	Electric Post-Mount Grill with Two Controls and Window	\$8,457.00
EL500S-4ZIE-P6	Electric Post-Mount Grill with Two Controls	\$8,154.00
EL500S-3ZIE-P6	Electric Post-Mount Grill with One Control	\$7,952.00





# **Echelon Pizza Oven**

- 304 Stainless Steel Construction
- IPI Ignition with Flame Rectification
- Oven Door Opens Flat and can Hold Up to 50lbs
- Ceramic Glass Door Viewing Window
- 18" x 18" x 3/4"
- 36,000 btu's, 304 Stainless Steel Burners

- Cordierite Pizza Stone
- Thermostatic Control (150° 750°)
- Touch Screen Operation
- Black Glass Control Panel
- Includes Backing Rach and Pizza Peel
- Interior Light

Model No.	Description	List Price
5660N	Built-In Pizza Oven - NG	\$7,978.00
5660P	Built-In Pizza Oven - LP	\$7,978.00
660-SC24	30" Portable Cart Grill Base	\$2,415.00
3661F	Pizza Oven Built-In Grill Cover	\$114.00
33661-20F	Pizza Oven Freestanding Grill Cover	\$219.00



5660

# **Echelon Gourmet Griddle**

- 30" x 18" Cooking Area (540 sq. in.)
- 3/8" Thick SS Griddle Surface for Warp-Free Performance
- Includes Stainless Steel Cover
- Black Glass Control Panel

- 120 VAC/12 Volt Hot Surface Ignition
- Back-Lit Control Knobs
- Easy to Clean Grease Tray with Dual Removable

Collection Troughs

E660I-1T4N	Gourmet Built-In Griddle - NG	\$4,844.00
E660I-1T4P	Gourmet Built-In Griddle - LP	\$4,844.00
660-SC24	30" Portable Cart Grill Base	\$2,415.00
3517-5F	Griddle Built-In Grill Cover	\$180.00
35120-20F	Griddle Freestanding Grill Cover	\$214.00



E660I-1T4



# Aurora Pizza Oven NEW

- 304 Stainless Steel Construction
- IPI Ignition with Flame Rectification
- Oven Door Opens Flat and can hold up to 50 lbs.
- Ceramic Glass Door Viewing Window
- Includes Backing Rack and Pizza Peel
- 18" x 18" x 3/4" Cordierite Pizza Stone
- Thermostatic Control (150° 750°)
- Back-Lit Knob with Temperature Indication
- 36,000 btu's 304 Stainless Steel Burners
- Interior Light

Model No.	Description	List Price
4600N	Built-In Pizza Oven - NG	\$7,179.00
4600P	Built-In Pizza Oven - LP	\$7,179.00
660-SC24	30" Portable Cart Base	\$2,415.00
3661F	Pizza Oven Built-In Grill Cover	\$114.00
33661-20F	Pizza Oven Freestanding Grill Cover	\$219.00



# Aurora Gourmet Griddle NEW



- 30" x 18" Cooking Area (540 sq. in.)
- 3/8" Thick SS Griddle Surface for Warp-Free Performance
- Includes SS Cover

- 120 VAC/12 Volt Hot Surface Ignition
- Easy-to-Clean Great Tray with Dual Removable Collection Troughs
- Back-Lit Control Knobs

A660I-0T4N	Gourmet Built-In Griddle - NG	\$4,499.00
A660I-0T4P	Gourmet Built-In Griddle - LP	\$4,499.00
660-SC24	30" Portable Cart Base	\$2,415.00
3517-5F	Griddle Built-In Grill Cover	\$180.00
35120-20F	Griddle Freestanding Grill Cover	\$214.00



A660I-0T4



# **Built-In Accessories**

# Model No. Description List Price

# Refrigerator / Kegerator Options and Ice Maker

3594DR <b>*</b>	Outdoor Rated Kegerator with Fire Magic Style Handle (right hinge door)	\$7,092.00
3594DL	Outdoor Rated Kegerator with Fire Magic Style Handle (left door hinge)	\$7,092.00
3594-CK ❖	Outdoor Kegerator Cleaning Kit	\$400.00
3589DR	Outdoor Rated Refrigerator 5.1 cu. ft. with Stainless Steel Premium Door (right door hinge)	\$5,504.00
3589DL	Outdoor Rated Refrigerator 5.1 cu. ft. with Stainless Steel Premium Door (left door hinge)	\$5,504.00
3808	Trim Kit Accessory - for Outdoor Rated Refrigerator and Kegerator	\$271.00
3598-DR	Refrigerator 4 cu. ft. w/ Stainless Steel Premium Door (right door hinge)	\$1,124.00
3598-DL	Refrigerator 4 cu. ft. w/ Stainless Steel Premium Door (left door hinge)	\$1,124.00
3598A	Refrigerator 4 cu. ft. Below Counter Style w/lock (reversible door hinge)	\$797.00
3809AR	Trim Kit Accessory - Refrigerator (right door hinge)	\$204.00
3809AL	Trim Kit Accessory - Refrigerator (left door hinge)	\$204.00
5597A	Outdoor High Capacity Automatic Ice Maker - UL/CE Listed - Produces Over 60 lbs of Ice and can Store 27 lbs for 24 Hours. (reversible door hinge)	\$5,432.00
3597-100	Drain Pump for 5597	\$870.00
3821	Ice Maker Trim Kit (Left and Right Door Hinge) - Fits 5597	\$103.00

# **Beverage and Refreshment Center Accessories**

1D-SO	Bar Caddy (Built-In)	\$1,166.00
3835	Built-In Beverage Butler w/ Stainless Steel Faucet	\$2,789.00
3596A	Refreshment Center with Insulated Lid - Slide-In	\$2,009.00
33596	Refreshment Center with Insulated Lid - Drop-In	\$1,968.00

# **Outdoor Kitchen Built-In Accessories**

3587	Stainless Steel Sink 15 1/4"x15 1/4"x6 3/4" (requires a 17" clearance underneath)	\$236.00
F3588	Faucet Set (cold only)	\$111.00
3837	Double Sink	\$702.00
3836	Stainless Steel Faucet	\$156.00
53820-TSC	Dual Trash Cabinet - Includes Trash Bins (21"H x 14 1/2"W x 19 1/4"D)	\$849.00
53825-T	Single Trash Cabinet (24"H x 12 3/4"W x 20"D)	\$951.00
53816	Cut and Clean Combo - Trash Chute with Cutting Board (available for use with trash container)	\$449.00
53812	Paper Towel Holder (9 1/4"H x 12"W x 8"D)	\$299.00















# **Built-In Accessories**

Model No. Description List Price

# **Power Vent Hoods**

60-VH-7	60" Vent Hood w/ Fan (1200 CFM) - use with E1060	\$5,705.00
60-VH-7-02	60" Vent Hood Spacer	\$460.00
60-VH-7-DC	60" Duct Cover (to be used with spacer)	\$334.00
48-VH-7	48" Vent Hood w/ Fan (1200 CFM) - use with grills up to A/E790	\$5,359.00
48-VH-7-02	48" Vent Hood Spacer	\$431.00
48-VH-7-DC	48" Duct Cover (to be used with spacer)	\$311.00
42-VH-7	42" Vent Hood w/ Fan (1200 CFM) - use with grills up to A/E790	\$4,971.00
42-VH-7-02	42" Vent Hood Spacer	\$412.00
42-VH-7-DC	42" Duct Cover (to be used with spacer)	\$299.00
36-VH-7	36" Vent Hood w/ Fan (1200 CFM) - use with A540	\$4,685.00
36-VH-7-02	36" Vent Hood Spacer	\$392.00
36-VH-7-DC	36" Duct Cover (to be used with spacer)	\$285.00



# **Insulation Aids and Component Accessories**

3185-52	Insulating Liner for E1060	\$2,239.00
3186-52	Insulating Liner for E790, A790	\$1,843.00
3176-52	Insulating Liner for E660, A660	\$1,687.00
23150-52 ❖	Insulating Liner for A540, C540	\$1,499.00
23130-52 ❖	Insulating Liner for A430, C430	\$1,407.00
3177-52 💠	Insulating Liner for C650	\$1,645.00
3278-52	Insulating Liner for Power Burner & Double Searing Station	\$1,160.00
3178-52	Insulating Liner for EL500i	\$870.00
5510-01	Louvered Venting Panel (for island enclosures)	\$56.00
5110-33 💠	Tank Shield (Propane) for Patio Post Mount Grills	\$140.00



Note: Liners above fit 2020 and newer grills.



# **Premium Storage Doors and Drawers**

- Sleek Flush Design
- 304 Stainless Steel
- Insulated Doors for a Solid Sound and Feel

- Soft Close (SC)
- Handles complement Echelon and Aurora series grills
- Double Wall Construction

#### Model No. Description List Price

#### **Premium Double Access Doors**

53934SC	15" x 30" (reduced height)	\$641.00
53934KSC	15" x 30" (reduced height) - Locking Model	\$690.00
53938SC	16" x 39" (reduced height)	\$711.00
53938KSC ❖	16" x 39" (reduced height) - Locking Model	\$758.00
53930SC	21" x 30"	\$770.00
53930KSC	21" x 30" - Locking Model	\$818.00



# **Premium Single Access Doors**

53914SC-R or L	15" x 20-1/2", Horizontal	\$413.00
53920SC-R or L	21" x 14-1/2", Vertical	\$420.00
53920KSC-R or L	21" x 14-1/2", Vertical w/Lock	\$463.00
53917SC-R or L	18" x 24-1/2", Horizontal	\$487.00
53917KSC-R ❖ or L ❖	18" x 24-1/2", Horizontal w/Lock	\$530.00
53924SC-R or L	25" x 17-1/2", Vertical	\$497.00
53924KSC-R ❖ or L ❖	25" x 17-1/2", Vertical w/Lock	\$542.00
53820SC-TL❖ or TR ❖	21" x 14-1/2" x 20-1/2", w/Tank Tray and Louvers, Vertical	\$661.00



Note: Order R for Right Hinge and L for Left Hinge.

# **Premium Double Doors w/ Drawers**

53930SC-12T	21" x 30-1/2" x 20-1/2", w/Tank Tray, Louvers and Dual Drawers	\$1,585.00
53930SC-12	21" x 30-1/2" x 20-1/2", w/Trash Tray and Dual Drawers	\$1,518.00
53930SC-22	21" x 30-1/2" x 20-1/2", w/2 Dual Drawers	\$1,875.00



#### **Premium Single Door w/ Dual Drawers**

53820SC-L or R ❖	21" x 14-1/2" x 20-1/2", w/Dual Drawers	\$952.00

Note: Order R for Right Hinge and L for Left Hinge.

#### **Premium Door and Drawer Combos**

54020S	33-1/2" x 20" x 26" Large Pantry Door/Drawer Combo	\$2,122.00
54018\$	25" x 17-1/2" x 26" Medium Pantry Door/Drawer Combo	\$1,701.00
53816SC	18-1/2 x 36-1/2" x 26" Access Door w/Platter Storage and Double Drawer	\$2,033.00
53810SC	18-1/2 x 30-1/2" x 26" Access Door w/Double Drawer	\$1,662.00
53820-TSC	Dual Trash Cabinet - Includes Trash Bins (21"H x 14-1/2"W x 19-1/4"D)	\$849.00
53825-T	Single Trash Cabinet (24"H x 12-3/4"W x 20"D)	\$951.00



54020S

#### **Premium Drawers**

53801SC	5-1/4" x 14-1/4" x 20-1/2" Single Drawer	\$523.00
53802SC	16" x 14-1/2" x 20-1/2" Double Drawer	\$997.00
53803SC	26-1/4" x 14-1/2" x 20-1/2" Triple Drawer	\$1,382.00
53830-SW	14-1/2" x 32-1/4" x 22" Electric Warming Drawer	\$2,120.00
53830SC	14-1/2" x 32-1/4" x 22" Masonry Drawer / Large Utility Drawer	\$1,119.00



Note: Cut-Out Dimensions HxWxD.

Pricing, model numbers and availability are subject to change without notice.



# Select Storage Doors and Drawers

- Stainless Steel Tubular Handles
- 304 Stainless Steel
- Outside Mount Design

- Double Wall Construction
- Square Edge Construction

# Model No. Description List Price

#### **Select Double Access Doors**

33930S	21" x 30"	\$698.00
33938\$	16" x 39" (Reduced Height)	\$644.00
Select Single Access Doors		

33914-SR or SL	15" x 20 1/2", Horizontal	\$375.00
33920-SR or SL	21" x 14 1/2", Vertical	\$378.00
33917-SR or SL ❖	18" x 24 1/2", Horizontal	\$433.00
33924-SR or SL ❖	25" x 17 1/2", Vertical	\$437.00
33820-TSR ❖ or TSL ❖	21" x 14 1/2" x 20 1/2" w/ Tank Tray and Louvers, Vertical	\$547.00

Note: Order SR for Right Hinge and SL for Left Hinge.

#### Select Double Doors w/ Drawers

33930S-12T <b>*</b>	21" x 30 1/2" x 20 1/2" w/ Dual Drawer and Trash Tray w/Louvers	\$1,445.00
33930S-12 <b>*</b>	21" x 30 1/2" x 20 1/2" w/ Dual Drawer and Trash Tray	\$1,380.00
33930S-22 <b>*</b>	21" x 30 1/2" x 20 1/2" w/ 2 Dual Drawers	\$1,813.00

# Select Single Door w/ Dual Drawers

33820-SR * or SL *	21" x 14 1/2" x 20 1/2"	\$900.00
--------------------	-------------------------	----------

Note: Order SR for Right Hinge and SL for Left Hinge.

#### **Select Door and Drawer Combos**

33816\$ ❖	18 1/2" x 36 1/2" x 26" Access Door w/Platter Storage and Double Drawer	\$1,814.00
33810S	18 1/2" x 30" x 26" Access Door w/Double Drawer	\$1,471.00

# **Select Drawers**

33801 ❖	5 1/4" x 14 1/2" x 20 1/2" Single Drawer	\$487.00
33802	16" x 14 1/2" x 20 1/2" Double Drawer	\$916.00
33803	26 1/4" x 14 1/2" x 20 1/2" Triple Drawer	\$1,272.00
33830-SW <b>*</b>	13" x 31" x 20 1/2" Electric Warming Drawer	\$1,996.00
33830-S <b>*</b>	13" x 31" x 20 1/2" Masonry Drawer	\$1,050.00

Note: Cut-Out Dimensions HxWxD.





33920-SR





#### **Echelon Diamond Stand Alone Grill**

#### Stand alone grills include all the outstanding features of built-in grills, plus:

- All Stainless Steel Cart with Storage & Two Storage Drawers
- Retractable Tool Holder and Paper Towel Holder
- Extended Shelves 17" Wide
- All Stand Alone Carts are Factory Pre-Assembled
- Grills Come with Both NG & LP Orifices

- Four Heavy-Duty Swivel Casters
- Two 110V Electrical Outlets w/8' Heavy Duty Extension Cord
- 10' Quick Disconnect Hose for Natural Gas or Hose and Regulator for Propane
- Analog and Digital Thermometers Available

#### Model No. Description

#### **List Price**

# E1060 Stand Alone Grills - Black Glass Control Panel and Touch Screen Operation

E1060S-9E1P-51 ❖	LP Grill with Cabinet and Power Burner, Digital Thermometer, 48 x 22 (1,056 sq. in.), 115,000 Btu's, Backburner 22,000 Btu's	\$19,017.00
E1060S-9E1P-51-W *	LP Grill with Cabinet and Power Burner, Digital Thermometer, 48 x 22 (1,056 sq. in.), 115,000 Btu's, with Window	\$19,757.00
E1060S-9EAP-51 *	LP Grill with Cabinet and Power Burner, Analog Thermometer, 48 x 22 (1,056 sq. in.), 115,000 Btu's, Backburner 22,000 Btu's	\$18,359.00
E1060S-9EAP-51-W �	LP Grill with Cabinet and Power Burner, Analog Thermometer, 48 x 22 (1,056 sq. in.), 115,000 Btu's, Backburner 22,000 Btu's with Window	\$19,098.00



E1060S-9E1P-51-W

See page 15 & 16 for additional Echelon & Aurora Grills with optional portable cart grill bases.



# **Grill Accessories**

Model No.	Description	List Price
3570 ❖	Turkey Frying Pot Kit 26 Qt. Aluminum with Basket & Thermometer	\$335.00
3512A <b>*</b>	Griddle, Porcelain Cast Iron (A54, A43 Models)	\$147.00
3513A	Griddle, Porcelain Cast Iron (Echelon & A79, A66, 3281 Side Burner)	\$175.00
3518	SS Griddle (Echelon, A79, A66)	\$540.00
3515A	SS Griddle (A83, A/C54, A/C43, Power Burner	\$637.00
3516A	SS Griddle (Echelon, A79, A66, Power Burner	\$807.00
3683	Power Burner Griddle Adapter	\$130.00
3056A	Infrared Burner System (Echelon A79, A66) 2015 and Newer	\$496.00
3065A	Infrared Burner System (A54, A43) 2015 and Newer	\$470.00
3514	Pizza Stone Kit with Wooden Pizza Peel	\$202.00
3561	Smoker Box	\$147.00
3564-1 *	Charcoal/Smoker Basket (A54 & A43 Only)	\$226.00
3564-2	Charcoal/Smoker Basket (Echelon & A79, A66)	\$240.00
3567 ❖	Grilling Tray	\$116.00
3574 ❖	Grill Light Accessory (Mounts On Rotisserie Bracket)	\$179.00
3573 ❖	Grill Top Thermometer	\$49.00
3575C <b>*</b>	Tool Set - Tongs, Fork, Spatula & Basting Brush in Nylon Case	\$114.00
3682A <b>*</b>	Warming Rack Extender (Echelon, A79 & A66)	\$73.00
3502-G	SS Griddle Scraper	\$42.00
3502-H NEW	Cooking Grid Scraper for Diamond Sear Cooking grids	\$72.00
3502-A NEW	Cooking Grid Scraper for Round Cooking grids	\$72.00
3502-W <b>*</b>	Wood Scraper	\$59.00



3615E ❖	Turkey Holder (2 parts - with 3/4" Hub)	\$92.00
3617E ❖	Chicken Holder (1 part - with 3/4" Hub)	\$46.00
3618 *	Rotisserie Basket, Flat Stainless	\$54.00
3620E ❖	Counter Balance	\$44.00





3564-1 or 3564-2





.





# **Grill Accessories**

# Model No. Description List Price

#### Gas Shut-Off Valves & Timers

3090A	Automatic Timer Safety Shut-Off Valve - 3 Hour	\$104.00
3092D	Automatic Timer Safety Shut-Off Valve - 1 Hour	\$104.00
AV-30	Straight Gas Line Valve with Key	\$72.00
5521-01T	Gas Connection Box with 1hr Timer and Quick Disconnect	\$365.00
5521-11T	1 hr Stainless Steel Gas Timer Box	\$254.00
5521-13T	3 hr Stainless Steel Gas Timer Box	\$254.00
5521-12T	1 hr Stainless Steel Double Timer Box	\$390.00
5521-14T	3 hr Stainless Steel Double Timer Box	\$390.00

#### Gas BBQ & Side Burner Connectors

ous productions		
3021 *	Grill and Side Burner Built-In Connector Package - NG - 2-48" SS Connectors, Tee and Fittings	\$137.00
3023	Grill and Side Burner Built-In Connector Package - LP - 2-48" SS Connectors, Regulator and Hose w/Acme Thread Coupler Fitting	\$171.00
3024 *	Grill Built-In Connector Package - LP - 48" SS Connector, Regulator & Hose w/Acme Thread Coupler Fitting	\$102.00
5110-07	Propane Regulator & Hose (Acme Thread)	\$53.00
5110-15	Two Stage Regulator with Hose (Propane)	\$98.00







5521-11T



# **Common Replacement Parts and Components**

Model No.	Description	List Price
Burners		
3041-40-2	Cast SS Burners (Elite-Pre 2008, Monarch-Pre 2008, Regal II-Pre 2008, Custom II-Pre 2008, Deluxe) - Set of 2	\$376.00
3042-40-2 *	Cast SS Burners (Regal I-Pre 2008, Custom I-Pre 2008) - Set of 2	\$347.00
3041-50	Cast Stainless "E" Burner, Echelon & Aurora (E10, E79, A79, E66, A53)	\$394.00
3042-50	Cast Stainless "E" Burner, Aurora 13" (A54, A43)	\$367.00
3049A <b>*</b>	Infrared Burner System Pre 2015 (A79, A66, A53) & Searing Station	\$555.00
3051A <b>*</b>	Infrared Burner System Pre 2015 (A54, A43) & Searing Station	\$538.00
Flavor Grids		
3055-S	Flavor Grid, 7"x17", SS (Regal II- Pre 2008)	\$149.00
3054-S <b>*</b>	Flavor Grid, 7"x13", SS (Regal I - Pre 2008)	\$141.00
3053-S	Flavor Grid, 10"x17", SS (Elite-Pre 2008, Monarch-Pre 2008, Regal II-Pre 2008, Custom II-Pre 2008, Deluxe)	\$150.00
3052-S	Flavor Grid, 10"x13", SS (Regal I-Pre 2008, Custom I-Pre 2008)	\$145.00
3056-S-3	Flavor Grids, (set of 3) (E79, A79), Pre 2020, 12" x 16 1/4" (3), 10 1/2" x 16 1/4" (1)	\$370.00
3056-S-4	Flavor Grids, (set of 4) (E10), Pre 2020, 12" x 16 1/4" (2), 10 1/2" x 16 1/4" (2)	\$494.00
3057-S-3	Flavor Grids (set of 3) (E66, A66), Pre 2020, 9 7/8" x 16 1/4" (2), 8 1/2" x 16 1/4" (1)	\$314.00
3063-S-2	Flavor Grids (set of 2) (A43, A83, C43), Pre 2020, 12" x 13 1/4" (2)	\$170.00
3064-S-3 <b>*</b>	Flavor Grids (set of 3) (A54, C54), 9 7/8" x 13 1/4" (2), 8 1/2" x 13 1/4" (1)	\$253.00
3056-S-2 <b>*</b>	Flavor Grids (set of 2) (A53), Pre 2020, 12" x 16 1/4" (2)	\$247.00
Warming Racks		
3674S-B ❖	Warming Rack, Post 2020, (E10), 48" x 7 3/4"	\$247.00
3675S-B ❖	Warming Rack, Post 2020, (E79, A79, C65), 35 3/4" x 7 3/4"	\$232.00
3673S-B ❖	Warming Rack, Post 2020, (E66, A66, A54, C54), 30" x 7 3/4"	\$184.00
Cooking Grids		
23539-DS-2 <b>*</b>	Stainless Steel Diamond Sear Grids, 2 Per Carton, for E10 (2 required), 21 3/4" x 12 1/4"	\$706.00
3539-DS-3	Stainless Steel Diamond Sear Grids, 3 Per Carton, for E790 & A790, 21 3/4" x 12"	\$1,059.00
23539-DS-3 <b>*</b>	Stainless Steel Diamond Sear Grids, 3 Per Carton, for A790 (pre-2020), 21 3/4" x 12 1/4"	\$1,059.00
3544-DS-3 <b>*</b>	Stainless Steel Diamond Sear Grids, 3 Per Carton, for E660 & A660, 21 3/4" x 10"	\$918.00
23544-DS-3 <b>*</b>	Stainless Steel Diamond Sear Grids, 3 Per Carton, for A660 (pre-2020), 21 3/4" x 10 1/4"	\$918.00
3538-2	Porcelain Steel Diamond Sear Grids, 2 Per Carton, for A54 (pre-2020), 17 3/4" x 14 3/4"	\$185.00
Valves & Knobs		
3008	Valve Assy (Push-to-Light)	\$82.00
3008-11	Valve, Backburner & Side Burner	\$79.00
	Valve, Grill, w/o Knob (Elite-Pre 2008, Monarch-Pre 2008, Regal I & II-Pre 2008, Custom I & II-Pre 2008,	\$82.00
3004	Deluxe)	
3004 3012 <b>*</b>	Valve Knob Only - (pre 2005)	\$30.00
3004 3012 <b>*</b> 3015		\$30.00 \$35.00
3012 ❖	Valve Knob Only - (pre 2005)	
3012 <b>*</b> 3015	Valve Knob Only - (pre 2005)  Valve Knob - Aurora (Large) (A79, A66, A54, A53, A43)	\$35.00



# **Common Replacement Parts and Components**

Model No.	Description	List Price
Ignition Parts		
3199-37 💠	Crossover Ignition Box - Unibody (Regal II-pre 2008, Custom II-pre 2008)	\$77.00
3199-43 💠	Ignitor Module for Aurora 430 without Backburner	\$99.00
3199-46	Ignitor Module - 6 Position (Aurora Cart Models Only - A66, A54)	\$71.00
3199-68	Ignitor Electrode and Bracket, Ech. Infrared Burner and Aur. Hot Surface - (E10, E79, E66)	\$112.00
4199-52	Ignitor Electrode Backburner - (Aurora A79, A66, A54, A53, A43)	\$85.00
24182-53	Wire Harness Extension - Aurora / Echelon / Pizza Oven (5660)	\$81.00
24187-24 💠	Wire Harness Echelon (E10, E79, E66)	\$190.00
24177-29	Wire Harness Aurora w/Lights & Hot Surface Ignition (2018 - current)	\$194.00
24177-26 💠	Wire Harness Aurora w/Lights & Electronic Ignition (2013 - 2014)	\$137.00
24177-24	Wire Harness Aurora, (2009 - 2013)	\$71.00
3199-60	Ignitor Electrode Kit with Wiring, Collector Box & Bracket (pre 2006) (Elite-Pre 2008, Monarch-Pre 2008, Regal I & II-Pre 2008, Custom I & II-Pre 2008, Deluxe)	\$100.00
3199-61	Ignitor Electrode Kit with Wire and Collector Box (Elite-Pre 2008, Monarch-Pre 2008, Regal I & II-Pre 2008, Custom I & II-Pre 2008, Deluxe)	\$100.00
3199-64	Ignitor Electrode Main and Side Burner (Pre 2012) (E10, E79, E66)	\$85.00
3199-72	Ignitor Electrode Main and Side Burner - Aurora/Echelon	\$85.00
3199-48	Ignitor Spark Generator (4 plug) Back burner (Pre 2008) (Regal I)	\$100.00
3199-47	Generator, Battery Spark Kit (Legacy 2008)	\$67.00
3199-44	Ignitor Module (4 position) Aurora (A53, A43, All Built-In Models)	\$64.00
3199-45	Ignitor Electrode and Collector Box/Wire (A79, A66, A54, A53, A43, C54, C43)	\$62.00
3199-63	Switch, Ignitor (Pre 2009)	\$41.00



# **Common Replacement Parts and Components**

Model No.	Description	List Price
Power Supply		
24177-11 💠	Power Supply - Aurora (Pre 2015) (A79, A66, A54, A43)	\$354.00
24182-18	Power Supply - Aurora (Hot Surface Ignition) (A79, A66, A54, A43)	\$206.00
24180-17	Battery Box, AA (Pre 2015) (A79, A66, A54, A53, A43)	\$42.00
24180-37	Battery Box, 9v (Pre 2015) (A79, A66, A54, A53, A43)	\$42.00
24187-18	Power Supply, Built-In Echelon (E10, E79, E66)	\$453.00
24387-18 💠	Power Supply, Portable Echelon (E10, E79, E66)	\$542.00
Lights		
24182-46	Lighted, Master Switch - Shut Off Echelon Diamond	\$143.00
24182-48	Light Switch - Aurora & Pizza Ovens (A79, A66, A54, A43)	\$79.00
24187-15	Light Bulb Replacement - Aurora, Echelon & Pizza Ovens	\$14.00
24187-20	Internal Light Switch (E10, E79, E66)	\$47.00
24187-26	Light Lens - Aurora, Echelon & Pizza Ovens	\$35.00
24187-28	Lamp Assembly - Aurora, Echelon & Pizza Ovens	\$71.00
Thermometers		
24180-12	Digital Thermometer, Aurora (Pre 2015) (A79, A66, A54, A53, A43)	\$190.00
24180-12H <b>*</b>	Digital Thermometer - Aurora (Hot Surface Ignition) (A79, A66, A54, A53, A43)	\$181.00
24182-12	Digital Thermometer, Echelon Diamond (pre 2024) (E10, E79, E66)	\$550.00
23305	Thermometer & Bezel, Analog "A" Series - Echelon, Aurora & Choice (Pre 2020)	\$56.00
Miscellaneous Pa	arts	
23278-12	Extension Wire Kit	\$82.00
24195-16	Power Switch	\$143.00
24182-65	LED Lighted Disk, Large - Aurora Current, Echelon 2016-2023	\$66.00
24187-13	Thermocouples, Battery Pack & Harness - Echelon	\$342.00
24187-29	Flash Tube Left (Aurora, A54, A43)	\$41.00
24187-35	Flash Tube Right (Aurora, A54, A43)	\$41.00
24187-65C	Flash Tube Center - Aurora & Echelon	\$41.00
24187-65L	Flash Tube Left - Aurora & Echelon	\$41.00
24187-65R	Flash Tube Right - Aurora & Echelon	\$41.00
3061-S	Zone Separators, Echelon (E10, E79, E66)	\$61.00

